Problem 7.17

Find Z for the network shown.
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Suggested Solution

Z=2+2j||(1+1]j)=2+2j || (L5+05)) =2+ 211+_44_ =2.8316.92°Q
- J
Problem 7.21

Draw the frequency domain circuit and calculate v(t) for the drcuit shown if
[(t)=20 cos(377+12C) A.
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v(t) = 0.52c0s(377t +44.97°)V

Problem 7.38

Find Vs in the network shown if 1,=2010° A.
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Problem 7.51

Use mesh analysisto find Vg in the drcuit shown.
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Suggested Solution

V,=2l,

mesh equations
12=1,(j2)+1,(-j4)

—6145° = —j4l, +1,(2+ j4)

matrix form

0j2 —j4[|:|1D:D 12 O
ti4 2+jaH,H Hi-135°H

Solve for I,

0j2 12 O
_Hija e135°H 12-45° + 4g90°
" 0j2 -j40  j4-8+16
Hia 2+jaH

V,=21,=90451.3V

P

=4.5251.3°A



